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An approach to construction of exact solutions of nonlinear equations on the basis of sepa-
rated variables is proposed.

1 Introduction

To construct the exact solutions of nonlinear equations in mathematical physics the following
ansatz is commonly used

u(z) = f(z)o(w) +9(). (1)

where f(z), g(x), w = w(x,u) are certain functions, and functions ¢(w) are undetermined. If
the explicit form of variables w = w(z, u) and functions f(z), g(x) is determined on the basis of
subalgebra of invariance algebra of this equation, then ansatz (1) is called as a symmetry or Lie
one. Not all ansatzes are symmetry ones.

In [1-4] a definition of conditional invariance of this differential equation was introduced.
If the explicit form of new variables w = w(z,u) and functions f(z), g(x) are determined on
the basis of conditional symmetry operators then ansatz (1) is called an arbitrary invariant or
non-Lie one. By means of arbitrary invariant ansatzes new classes (types) of exact solutions of
many nonlinear equations in mathematical physics were constructed. Let us note an effective
algorithm for finding of arbitrary symmetry operators is not found yet.

In this paper an approach to the construction of exact solutions of nonlinear equations is
proposed. It is based on the method of separated variables and has a great advantage in view
of its simplicity and possibility to be unchanged for construction of exact solutions for many-
dimensional equations. We will consider this approach using the Boussinesq equation.

2 Exact solutions of the Boussinesq equation
ug = AM(Vu)? + AuAu
Let us consider the Boussinesq equation

up = A(Vu)? + IuAu, (2)

where A is an arbitrary constant, u = u(xg, z1,. .., Tn), ug = —, and
1
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Certain partial solutions of Eq.(2) for two variables zy,  have been obtained in [5, 6], and

for many variables in [1, 7].
Now let us consider the one-dimensional Boussinesq equation

ou\? 0%u

2.1. We seek for a solution of Eq.(3) in the form u = a(xo)b(z;), where functions a(z() and
b(zy) are not constants. Substituting into Eq.(3) we have

Aa?bb” + Xa?b? — a'b = 0. (4)

It follows from (4) that the functions a?, a’ are hnearly dependent. Consequently a’ = aa? for a
real number a and Eq.(3) has the form (AbY” 4+ Ab2)a? — aa?b = 0. We find from this equation
Mbb' + b2 — ab = 0. Notice that the substitution o’ = aa suggests a = 1. Thus we will consider
the equation

ABD + A2 — b =0. (5)
The general solution of Eq.(5) has the form

bdb 2
\/c—I—b 3A

where ¢, ¢; are arbitrary constants. If, for example, ¢ = 0, then b = %(xl +¢1)?, and we obtain
the solution of (3)

(21 + 1), (6)

G c1)?
6A(xo + ¢2) '

which is transformed into

2
S
By (7)

The solution (7) is a partial case for

1:2

6Axo

=== +f(l‘0,2}1)

Substituting into Eq.(3), we find

f0=—2$1f1 ——fll——f+/\f1 + Affri. ’ (8)

3330

The solution of Eq.(8) can be found in the form f = a(z)b(x;) and we have

2 z2 1 4
T L 2 (y\p'2 ay
a = < 31'1 6 3b +a </\b + A\bb )

Let o’ = o, where « is a real number. Hence, a = cz. To determine the function b(z;) we
find the system of equations:

o2b" + 4716 + (2 + 6a)b = 0, Y2+ by =0.



Separation of Variables and Construction of Exact Solutions 75

Thus, the Boussinesq equation possesses the following solution

2

-5/8 1/2 xy
u = CZEO l‘l — e
6)\$0

If the function f in (8) depends on z( only, then we obtain fy = —ﬁ f. Thus, Eq.(3) has a
solution

2
z -1/3
u=—6/\;CO +cxg .
2.2. Now let us consider Eq.(2) for the case n > 1. We shall look for solution of (2) in
the form u = a(xg)b(z1,...,xk), where the functions a(zy) and b(x1, ..., k) are not constant.
Substituting this expression into (2) we find
Aa® [(Vb)% + bAb] —a'b=0. (9)

It follows from (9) that functions a?, o’ are linearly dependent, thus a’ = aa? and Eq.(9) has a
form

(ABAb + A(Vb)?) a® — Aa®b = 0.
It can be obtained from this equation that

AbAb 4+ A(Vh)?2 — ab = 0. (10)
The function b = p(w), w =2 +--- + zi, b < n satisfies Eq.(10) iff

WDwep” + 2kApy’ + 4hwp'? — ap = 0. (11)

If & = 2\(k + 2) then a particular solution of Eq.(11) is the function ¢ = w. Since the equation

a’ = aa? possesses the solution a = —a—glm, then Eq.(2) has a solution of the form

2 2
. __:El+‘+l'k
“Z TNk 2030 (12)

The solution (12) is a particular case of

3+ -+ 7}

= 2/\(]6—}-2).1‘0 —+—f(x0,. " .,:L‘k).

1=

Substituting this expression into Eq.(2) we obtain

2 fi 2y fr

P —————_—_—— —_— 2 ... 2 2 Yi¥ 2
T Mot am, TAE R Rt )
(13)
a3+ -+ z k
e O (| G, I, Ly
e ( 2)\(k+2)x0+f>(f11+ +fon) = G Dae?
Let the function f be independent of zq, ..., Tk, then
T4t a? k
Y TN e cudelded e
Thus,
k
(forrpsr + -+ fan) =0, fo=A(flp+---+ f2) — A (14)

(k+2)zo
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The solution of (14) can be found in the form

[ = Pk+1Zr+1 + -+ UnZn + v,

where Ug+1,-- -, Lin, v are functions dependent on zg only. Substituting this expression into the

second equation of (14) we have

8Nk‘+l 8#11 ov
J i m sl Sl syt
By el Ban " O

k
=/\(u2+1+~-~+/t%)—( (k41Tha1 + -« + Pin@n + V).

k+ 2)%0

0o - (k + 2)xo Het

==&y +retug) =

The general solution of (15) has the following form:

5 K
= k+2 _ k+2
HEk+1 = Ck+12g y  ceey Mn = Gy s

Ak + 2) =kt2 =k

2 2 k+2 o R
B (Bfes o FG)m™ tamy
where ¢, ¢g11,- - ., cp are arbitrary constants.

Thus, we obtain the multiparameter set of solutions of Eq.(2)

z2+ -+ 7} o
u = —W + (Crt1Zhe1 + - F CpZa + )T
(16)
/\ k + 2 ] n —_k+2
+—(2—) (Re1+-+2)z .
Moreover, if £ = 1, n = 3 then solution (16) takes the form
2
z ~1/3 , 3A 1/3
u= —6/\;0 + (coxa + c373) Z Ry T (c% + cg) xo/ .
If £ = 2, n = 3 then solution (16) has a form
2 2
T+ x5 —-1/2
= — ;3/\.’170 + ¢33, / +2/\c§.
If the function f in (13) does not depend on 1, ..., x, then we have
k
o= ~Trom”

Thus,

k
e T k+2
f=cxy ™.
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And the Boussinesq equation (2) has also the following solution

2 2 k

i+ + T} ke
=————+4cx

YE TNk + 2)70 0

If, for example, k = 2 then we have

_ _7i+ad
. 8)\1‘0

+c:c61/2.

In the case of kK = 3 we have

z? + 22 + 2% _3/5
e .
10/\330

3 Exact solutions of the Boussinesq equation
ugo + (Vu)2 + uAu + A(Au) =0

Let us consider the Boussinesq equation
ugg + uuil + u% +u1111 =0, (17)

where
ou 9%u tu

u=ulx r =\To,T1). Ul = =5 u = —=, u = —F.
(=), (7o, x1), o 1 ol 1111 o2t

It is invariant with respect to the algebra with operators (8]

0 0 0 0 0
= —_— P = 9 D — 2 = = = 2 .
0o : 0T, = 0xo i 0Ty “au

Py

Operators Py, P, and D give rise to the one-parameter symmetry group of equations:

Go : (zo, x1,u) — (o + €, 21, u),
Gy : (:co,:cl,u) — (560.1‘1 +s,u), (18)

2

Gs : (zo,x1,u) — (e €20, eezcl,e_zsu).

Eq.(17) is also invariant under the discrete transformations

(550» xlyu) == (_‘TOfxlv u)7
(zo, z1,u) — (20, —Z1,u), (19)
(0 By, W) = (=io, =B, 0)-

One-parameter subgroups (18) and discrete transformations (19) give rise to the group G of

Eq.(17). Therefore, the most general solution obtained from u = f(xg,z;) by means of the
transformations of the group G has the form

u=a’f (aZxo + Bo, axq +/31) ,

where «, Gy, (1 are arbitrary real numbers.

The derivation of exact solutions of Eq.(17) is discussed in [1-4]. A new method of invariant
reduction of the Boussinesq equation is proposed in [2]. Exact solutions of Eq.(17) on the basis
of the conditional symmetry concept are obtained in [3-4].
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3.1. We seek a solution of Eq.(17) in the form u = a(zo) + b(z1). where the functions a(zo) and
b(z1) are not constant. Substituting this expression into Eq.(17) we have

a” +ab” + (bt + 0% + ") = 0. (20)

Since b is independent of zg, it is clear from Eq.(20) that a” = a+ Ga for real a and 3. Therefore,
we obtain from (20) that a(8+ b") + (a + bb” + b2 + ") =0, ie.

V'4+8=0 b +*+0" +a=0. (21)

If 3 = 0 then the system of Eqs.(21) possesses a solution b = yz; + &, where 42 = —a. The
function b(z;) can be transformed into 2x; by means of a transformation from the group G.
Then « = —4 and a = —ng + 1@+ 01, where 71, §; are real numbers. Since a can be rewritten
as a = —2(zo —71/2)% + 61 — 72/4, this solution can be transformed with the help of the group
G to become

u=2(a:1—a:(2)). (22)

Let us construct another type of solutions to Eq.(17) with partial solution (22) to the Boussinesq
equation. A partial solution of Eq.(17) can be found in the form

u:2(:vl—w%)+f(zo,:1:1). (23)
Ansatz (23) reduces Eq.(17) to the form
foo+ ffu+ fi+ fun +2(z — ) fu+4f1=0. (24)

Ansatz p = p(w), w = 71 + 73 reduces Eq.(24) to the ordinary differential equation

CPQO” s 90,2 + SOH" + zwwll s 6Q0, =10 (25)
A partial solution of Eq.(25) we find in the form ¢ = tw®, s # 1. Substituting it into (25) we
obtain s = —2, t = —12. Thus, the function

u=2(z; —x) — 12 (z1 + x%)—z (26)
is a solution of Eq.(17).
3.2. Now, we look for a solution of Eq.(17) in the form uw = a(xg)b(x1), where the functions
a(zg) and b(z;) are not constant. Substituting this expression into (17) we obtain

a"b+a? (b + b'?) + b = 0. (27)

In complete analogy with Subsection 3.1 we see that ” = aa®+ Ba. Substituting a” into Eq.(27)
and taking into account the functions a and a? are linearly independent we obtain the following
system to determine the function b(x;)

V" +Bb=0, b +b%+ab=0. (28)

It may be easily seen from these equations that 3 = 0 and « # 0. We can always set a = 6
by multiplying the function a by the number a/6 and the function b by 6/a. Since 3 = 0, we
see from the first of equations (28) that b is polynomial in z; of degree not higher than three.
Plugging b in the form of the general polynomial of degree three into the second of equations
(28), we see that in fact b = —z2. Hence, Eq.(17) possesses the solution

u = —tP(zo), (29)
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u = —zox;y 2, (30)

where P(xp) is the Weierstrass function with invariants g = 0 and g3 = ¢1.
A new class of solutions of Eq.(17) can be constructed using its partial solution (29). We

look for these new solutions in the form

u = —z2P(x0) + f(z0, 1) (31)
Ansatz (31) reduces Eq.(17) to

(foo + ffu + fi+ fun) — P (zifir + 4z fL + 2f) = 0. (32)

If the function f is independent of 1, then we have fyo = 2P f. This is the Lamé equation
and its solutions are well-known [11]. Thus, the function

u=—z2P(x0) + Almo), A’ =2PA (33)

is a solution of the Boussinesq equation.
If the function f in (32) does not depend on zp, then we have a system of equations to

determine the function f

a3 fi1 + 4z fi +2f =0, Ffu+ fi+ fun=0. (34)
The first equation of this system is linear and its complementary function is well-known [11].
Hence, f = —12x7 2, and Eq.(17) possesses a solution

u = —2iP(x) — 12272 (35)

We obtain simultaneously that the function
u=—12z72 (36)

is a solution of the Boussinesq equation too.

Then we find a solution of Eq.(32) which is dependent on zp and x;. It can be found in
the form f = a(zo)b(z1) + c(xp) where functions a(zg) and c(xg) are linearly independent.
Substituting into Eq.(17) we obtain

" +a"b+a* (b +b'?) + ach” + ab”" + aP (=272 — dx1b’ — 2b) — 2Pc = 0. (37)

Without going into details let us suppose from the outset that b = 0. Then b = ax; + 3 and
consequently f = aa(zo)z1 + (Ba(zo) + c(xp)). It means that setting « = 1, 3 = 0 in Eq.(37)
we arrive at

& + aamy +a® 4 aP(—4zy — 2z1) — 2Pc = 0.
Thus,
a’ —6Pa=0, (" =-a%+2Pc. (38)

The equation a” — 6Pa = 0 is the Lamé equation with a solution a = P(zg). Hence the
complementary function of the Lamé equation can be written as a = 1P (zg) + 12A(zq), where
P(zo) and A(zg) are linearly independent. The corresponding solution of Eq.(17) has the form

u=—P(zo)(x1 — 1/2)* + 1271A(0) + (c(z0) +77/4P(20)) -
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Under transformations from the group G it reduces to

u = —z2P(x0) + Y2x1A(20) + d(20), (39)
where the function d(xg) is a solution of the following equation

d" = =A% + 2Pd.

In a similar manner from (30) a new class of the Boussinesq equation solutions can be con-

structed

u = —riz? — 12272, (40)
2
¢

u=—xzr+ clwgwl e L;ia:g + cza:(z) + 631‘61. (41)

The solution of Eq.(17) is in the form u = a(z¢)b(x1) + ¢(x), where functions a(zp) and c(xy)
are linearly independent. By substituting in Eq.(17) we obtain

"4 2" 4462 (b'2 + bb") + ach” + ab"" = 0.
If ' = aa?, a”’ =0, then

a? (a+ b2+ bb") + ach” + ab” = 0.
It follows from this equation that

Y2+t +a=0, b =0.

The solution of this system up to transformations from the group G is a function b = z; if

a = —1. Then with the requirement that ¢/ = aa?, a” = 0, it is possible to obtain a = =z,

6= —%mé + vxo + 6. Thus the function

U= —i4 )
= ZoT1 12$0+’Y.T()+

is the Boussinesq equation soluticn with arbitrary real numbers ~, §.

3.3. We go now to the construction of exact solutions of the Boussinesq equation for the case

n > 1. The generalization of Eq.(17) for arbitrary number of variables xg, z1,...,z, is the
equation [10]
ugg + (Vu)? + uAu + A(du) =0, » (42)
where
2 2 2 2
(VU)2:(%> +-~+<%) : Au:%+:--+§—£}.
The solution of (42) can be found in the form u = a(zp)b(z1, ..., zr), k < n. Substituting this

expression into (42) we have
a"b+ a® [bAb+ (Vb)?] + aA(Ab) = 0.

Hence ¢’ = aa? + (Ba and as a result we obtain the following system to determine the function
b(:L‘l, & %y .’Ek)

A(Ab)+3b=0,  bAb+ (Vb)2+ab=0.
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If b = 0, then @ # 0 and it may be considered that @ = 6. The system has a solution
b= —kim (2 +---+ xz?) for these values b and a. Therefore, the Boussinesq equation solutions
are functions

3 2 2

== 1+ -+ xx) P(xo), 43

u k+2(11+ %) P(zo0) (43)

u:——3——(:v%+---+z§)x62. (44)
k+2 ’

Let us construct another solution of Eq.(42) from (43). We will look for it in the form

3

U= ~r— (zf +...+xz) Plzo) *= (@0 Biq5 00y B ) (45)
Ansatz (45) reduces Eq.(42) to
foo+ (V)2 + fAf + A(AS)
3 (.2 2 , (46)
-P E+2 ($1+—f—xk)Af+(4;L‘1f1++41-kfk)+2kf = {J.

If f does not depend on variables zi,...,z; in Eq.(46) then foo = f—g f and, therefore, the
function

6k

u=—== (@l +-+af) Plao) + Almo), A" = —5PA (47)
is a solution of Eq.(42).
If the function f depends on variables zg. z1, ...,z in (46) then the solution of Eq.(42) can
be obtained in the following form
3
= (22 + ...+ x}) P(x0) + az1A(zo) + c(zo), (48)
where P! = 6P2, A" = (44 2k)PA, ' = —a?A? 4 2Pc.
Similarly we find a solution of Eq.(42) from (44):
3 o 1+\/-,c——25ff§2 1- [
WS =y (23 +...+2}) 7g2 + c1zdzs — k112 112x(8)+62x0 - + cgdy; °
where ¢y, co, c3, ¢4 are arbitrary real numbers; k = 1,...,n.
A new type of solutions of Eq.(42) can be constructed using
u=—z3P(z0) + f(zo, T2, T3). (49)

Substituting anzats (49) into (42) we have
foo + (V)2 + F(Af) + A(Af) — 23P(Af) - 2Pf = 0.

Since the function f does not depend on x;, then Af = 0 and we obtain the following system
of equations to determine the function f:

foo+ f3 + f§ —2Pf =0, fa2 + f33 =0. (50)

We will seek now a solution of Egs.(50) in the form f = a(zo)z2 + b(zo)x3 + c(zo). Substitution
of f into the first equation of (50) gives

a"zy + b'z3 + "+ a? + b2 — 2P(azy + bxs + ¢) = 0.
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It follows from this equation that

' =2Pa, b1=2Pb, ' =-a®-b*+2Pc (51)
Solving Eq.(51) we find the explicit form of functions a(zg), b(zop), c(zo) and the solution of
Eq.(42) too.

If we use the ansatz
U= —x%x&Z + o, 20, 23),

we construct by analogy with the above the following solution of Eq.(42):
u= —x%x?z + (clx% + 043:51) T2 + (03:6% = C45L‘61) o3

_c%—i—c%xﬁ B CICZ+C3C4:L‘3 c%-f—c%
G 2 TR
And using the ansatz

. B _% (22 + 23) P(x0) + f (@0, z3)

another solution of Eq.(42) can be obtained
1
= (23 + 3) P(wo) + A(zo)zs + (o).

where A” = 2PA, ' = —A? + 2Pc.
Making use of
il .
hE s (22 + 23) 252 + f(z0.73)

we find a solution of Eq.(42) in the form

2
= C C1C2 Cs
+ (clz%Jrcsz 1) 3 + %zg— 2 2

2

1 =t
u= —5 (.’L‘%—}—.’E%) .Z‘O "2_270 2 .
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